B =CaERThETE #Fh POX (AREEtX (FEMEX)) FIBFAEMEXER #FHR:1/2,500

A !
&5 20 o i
D ."""u, H th )
: I.I.
¢
3 N th
1] (3 .
\ w ! & il
i g \
L N4
A3 " % ] \ v
X " & B \ 3

M {51 ar 51
1B & #h 8 = 8 R (& B oa it ooz B X
— VET] v = o i Ll v > Y v . \ S V..
ZE - e NS oI B AN
L 5] L il
£ —BEBEREERESTS A 1B 5 £ —EBEEEERESTS A B 5
s _BEREREERESFS A I 5 = _BEREREERES A I 5
sE—EBEPISELEEE AU s—RBPIELEEE AU
T = 4 s _RBhPSEEEFE R s _BPSEEESE AU
5 £ — B fF F i £ — B fF EF i
IS = 1 —
g H 6 - B £ B o m§ B 6 £ - B & B i i
/o, 7 £ B # 8 7 £ £ B # @
8 H F & 1 15 : 8 H £ [E i 15 |
- -
— s O %g 5 O
= 10 ] 2 i f2§ = 10 ] £ i f2f
\ : e
. DVE 11 -3 T -2 Hh 1ak : a ' 11 HE T £ th 1ak
EE 12 T 3 h ok \C “% T T s . -
o ) ‘
° 13 T = g5 H ;R 17 51 ° 13 T =% g5 H i (RN 17
ke '° ml
... =SIER (%) HEX (%)
v /100 \— P /100 \—
% miEES —{ 1—10 REMOBEORE (m) | matmEs — 1—10 REOBORE (m) |
W 60 e (%) S - EAE (%)
f

0 50 100 200 300 400 900 m R
|IIIIIIIII| I I I

|
1 P A ol '@X\»{@@%_

0 50 100 200 300 400 900 m Ha
|lllllllll| I I I

|
1 P A ol '@X\»{@@S&




